2.00

o
>
o

L =0. 60m

Hik$ 640
W

E— VSPE = FIL 640

VSPEZE LY 7 v k¢ 50 x40

VSP# 50 L=0.60m

VSP$50 L=1.00m ~

VSPT LR

BEKF 50 D BEKF ¢ 50

g

S =1/100

K&

2.65
1.20 0.70

T
OO

2.40

00

fef7 [ [

® @

S =1/100

o sl
S _|_.m_|._|_m._ L =0. 60m

BEEFMX S=F

1.20 0.50 1.00 0.50
1 = =
- o | | [ |
= o
] |~ —| B =
o ] — ~—
co N 1 [o || —_
” © 1 - H | O -3
mv e B mv T e
T o ] @] |_0
3.40 ] HI._NS
sf 'al O T3 =1
z LRl 2 18]
2 L =0.60m S 4 L =0 60m

BEERVSP ¢ 40
0.5

@M@”

2
%5,

PP5} 1k K42 F124Y 6 25

VSPEEL\ V7 v $50x40

VSP¢50 L=0.60m

~

HIVP$50 L=1.00m ~

VSF—Z ¢ 50/

A7ty b S=F

Y ELHKE (VP) O

@ BEKFE S0 @

0O 00000 0O

VPR KI5 k4 650 x 25 M
N .
- 2 M

ZIEKEP25

N

"
2,
2 0.60
BEERVSP ¢ 40

0]

%

%y,
55 0.60
BRERVSP ¢ 40

9]

i LML £ 8 ¢ 50

HIVPE )& 50 L=1.00m i LIS 8 ¢ 50

RYIFLUES2 ~N .
[=0.50m b

PPYry ¢25 == 0.5

HIVPER )& $50 L=1.00m

VS¥ 34 v k50 @
VSP$50 L=1.00m

VSPT LK ¢ 50

Bk St ¢ 40

2 k50 HKS 6 40

méﬁg
VSPEEEWYV v + $50x40
T VSP¢50 L=0.60m_

VSPEA = v T )L 940

VSPEE LY 7 v k $50x40

VPR KL% k2 ¢ 50 x 20
PP% ik K12 A4 ¢ 20

~_VSP®50 L=0.60m

VSPT LR ¢ 50

VSP$50 L=1.00m

HEKFE P50 @ Y ELSkE (VP) @

¢ 50 x 25

¢ 50 x 20

so| BARERESIE (203)

wy|  EEGEBBES S EF

B @ THH-FERK - BREHFHER

& T T2ty bHE
| = =
S R

I F A IEES

I%
&5




. W A /\\“t\

g ' i I
’ . ..I A = '- \‘21"'\“-. - |

: Kl

RO S v

P

v ‘['
N Y R
4 -

PR HRERE TFE (20 3)

I 48 FH #5541 3 & AT

WK

1 pre
2 4 2 | R

I B2 v 4% B < 56

29 4 H|TEES| fi—

R 1/1500_ 45m |

R % % E|» =% e
e LI e e

J\ 7K 18 1B 2 H




